dy dp_) [GeV?]

D1
3

1/(2m0) N/

Ratio to STAR

T

200 GeV pp Soft QCD

I IIIIIﬂ] I IIIIIWI

=

[HEN
o
R

ﬂl IIIIII"I IIIIIIﬂ] IIIIII"I IIIIII"I IIIIIIﬂ] IIIIII"I IIIIII"I IIIIIIﬂ] IIIIII"I

i
o o
I w

STAR \SZEEQ\\\
- Herwig++ 2.7.1 defatig\:;\.
- Herwig 7.2.1 default -
—a4— Pythia 8.308 default .
--¥-- Pythia 8.308 vincia-default

----- ¢ Sherpa 1.4.5 default

5 m

Ll III|IIII_T|H| IIIIIIlII IIIIIIlI] IIIIIIlII IIIIIIlII IIIIIIlI] IIIIIIlII IIIIIIlII IIIIIIlI] IIIIIIlII IIIIIIlII IIIIIIlI] IIIIIIlII

0.5

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


